Technician B Carpenter



Density of which of the following 1s lowest

a) Teak wood
b) Aluminium
c) Water

d) Air

g o ¥ fhgeT ua 9ad &1 §
a) Gﬁ?aﬁaﬁ

b) fegHITTH
c)EIT:ﬂ

d) d1g



Which wood is used for railway sleeper?

a) Sal

b) Mango
c) Teak
d) Deodar

¥Ad TR & oy g wp <t &1 Iua fobam e 3
a) Il

) 3H

C) GG

d) 4deR

O



Before painting, last smoothening of wooden surface is done by

a) Chisel

b) Sand paper
c) Scrapper
d) Jack plane

UfeT | Ugd, gl &1 Hdg &1 Sifan fas—rs e gr1 &1 oirdl 8
a) CL|
b) TS UW
C) THUR
d) Xal



The hammer used to extract nails out of wood is

A. Ball peen hammer
B. Claw peen hammer
C. Cross peen hammer

D. Straight peen hammer

aﬁﬁﬁaﬁmﬁ%iﬁquﬁﬂw\m% qrel gUIST 8
a) Eﬁﬁtﬂqﬁzﬁ@
b) Tl U gST
0) ﬁTZﬂ?E@ST
d) ¥e 0 gurer



Mortise gauge 1s used to mark

a) Parallel lines
b) Perpendicular lines
¢) Intersecting lines

d) Non intersecting lines

O ST ST YN AT B & (o8 fa1 Sl 8
a) JHMIR ¥@1U
b) THdd YW
¢) Ufd=sg A drdlt ¥y
d) TR Ufd=se 3@y




For cutting along grains, saw used 1s

a) Rip saw
b) Cross cut saw
¢) Compass saw

d) Dovetail saw

TgpiRAddea s ol 3t F1Iugm fHarSmar g
a) AT 3RY
b) 1Y B AR

¢) PN 3R
d) Sdcd 3R




Blade of wood cutting saw 1s made of

a) Cast iron
b) Mild steel
c) High carbon steel

d) Spring steel

et

¢) I HeT Lid

d) f&r

T

S




Which file 1s used 1n carpentry shop?

a) Flat file
b) Half round file

c) Rasp cut file
d) Needle file

Jesi I Bl g H 5 WIgd &1 TN Bidl 87
a) Tic BIgd
b) BT I3 BIsd

) NG & BIad

d) Hied wed



Which instrument 1s used to mark and draw vertical lines on job

a) Scriber

b) Center punch
c) Try square

d) Odd leg caliper

Sig R el Y@ & fifgd #A 3R T & fore fog Iuau &1
SUANT foreT ST 8

a) ThaR

b) % Ud (Hex U

Q) §T§@v—{

d) fasy IR B



Sharpening angle (in degrees) of chisel varies between
a) 0—10
b) 20 -25
c) 30-35
d) 45-90

& P dlen B (S E_ giare
a) 0-10
b) 20 - 25
¢) 30 - 35
d) 45 - 90



The end opposite to tang of file 1s called

a) Face
b) Edge
c) Heel
d) Point



BISd P o1 & fAuRId R &1 Fgd &
a) I ()
b) THRT (TS)
c) TSI &I9)
d) fdg (UIse)




Spoke shave 1s used for smoothening

a) Plane surfaces
b) Interior surfaces
c) Curved surfaces

d) Rough surfaces

Wid Td BT WA [h Y Tdg Bt WG HT & o fovar Srar g
a) THAA T8
b) 3R g
c) YHIdGR ¥de
d) Q& g




Forming a conical shape at the end of hole 1s called

a) Bracing
b) Drilling
c) Counter sinking
d) Boring

BEFRRRIGABGRTAA_ FHeddl @
a) IR
b) fgferT
) B3R Rl
d) ST




In pattern making, yellow colour represents

a) Castings

b) Core prints
c) Split pattern
d) Riser

Ocd 991 1, Ule T SRIAT1 8
a) HIE
b) ®R flic
C) e U
d) ISR




Which calliper 1s used to measure width of slot?

a) Inside calliper

b) Odd leg calliper
¢) Outside calliper
d) Jenney calliper

ic @1 AIST8 AU & fore feg erar &1 uaiT fsar Sirar 82
a) 3THES HITR
b) 3T AT BT
¢) 33T RS BHIAUR
d) ST BT




Which calliper 1s used for quick setting?

a) Firm joint calliper
b) Jenny calliper

¢) Outside calliper

d) Spring joint calliper

AR AT & fore fp Hierar &1 IUGIT fohaT STl 87
a) Wﬁﬁﬁﬁw
b) S hfeTaR
) W%’I‘I’s{@%ﬁ’lﬂ?
d) FBRT Sig=e SR



The chisel used for cutting rough surface quickly for turning on wood

turning lathe is

a) Firmer chisel
b) Gauge chisel
¢) Skew chisel
d) Mortise chisel

Ade! & QYRGS Udg Dl Sedl Y e & oy o+ oy IR gxadrd o
THa e ®

a) THHT &1

b) Tl &+

C) W{L%_rﬁ

d) Hiféer s+t



Another name of Jig saw is

a) Scroll saw
b) Pad saw
¢) Fret saw

d) Nest saw

S M s g
a)WTHGHﬁ
b) TS 3R
c)ﬁTd&ﬂ'\P{
d) A% 3R



Strongest form of angle joint used in cabinet work 1s

a) Housing joint
b) Halving joint
¢) Dovetail joint

d) Mortise and Tenon joint

bfae &1 # g9 Aolgd Wed S SIS g
a) ISR Aige
b) BTfed T STe
C) @Ia%ﬁﬁfﬁ
d) AIfeS 3R 2= Sige




In wooden jack plane, blade angle (in degrees) with horizontal is

a) 45
b) 30
c) 60
d) 37.5

AP Sl b o W |, Afds & I sis B0 ([SMH) 7
a) 45
b) 30
c) 60
d) 37.5



Clamping vice 1s used for

a) Sawing
b) Joining
c) Circular saw cutting

d) All of above

FATUT T3 &1 IYTNT ___ & ford frar Sirar 8
a) R Y Hled
b) S
¢) THeR 3R I PleA
d) SR & Ui




Water stone 1s used to re-sharpen

a) Chisels

b) Bits

c) Blades

d) All of above



R T HTITAN Bl fR J oo A & forg fobar Siran
g

a) BRI

b) farc

) IS

d) SR & gl

Following is used for cutting the wood at different angles
a) C clamp
b) Mitre box
c) Clamping vice

d) Bench hook



fAfs I IR dwe! dled & fou FgfaRed & 9 feger
SR {3 T §

a) ’éﬂaﬁﬂ

b) HTgeR S

C) G?ﬁ'ﬂfﬂ%ﬂ

d) 99 g

Which of the following operations can be performed on circular saw

a) Grooving
b) Rebating
c) Tenoning

d) All of above



FrafaRad & T o1 91 TR IHoR R | a1 o 961 g

a) ‘aﬁTI

b) feafc

C) ST

d) S| & it

Joint used to extend the length of member by joining two pieces of
timber

a) Lap

b) Angle

c) Lengthening

d) Bearing



Pl b &l ghel Bl STed HeR Pl dalg dgM P [og
SIS &1 IUGNT fohar SirdT 8

a) du

b) I

C) GRIGH]

d) S3{RAT

Which of the following tool is used to test straightness of large surface
a) Steel rule
b) Try square
c) Straight edge
d) Foot rule



faferiRad # O fg IUBRUT &1 YO Fst Idg & g
() BT U0 B & forw foar S @

a) SWd =d
b) TTg WHIR

¢) W< T8y

d) B¢ =d

Which part of tree 1s mostly useful for carpentry work?

a) Heart wood
b) Sap wood
c) Bark

d) Root



eI (JaR)) & B & o8 US &1 S I1 fexdl SHfwmaR
St g 82

a) BIC 48

b) YU TS

c) 9dId

d) ¥ig

The trunk of tree with branches cut off and bark removed 1s known

as

a) Log
b) Bulk
c) Post
d) Plank



Ug o 98 d-11 forge! RATT HIe <l Siidl 8 3R ST gl af St
¢ __ ool s

a) AT

b) deh

C) URe

d) Wi

The difference between maximum and minimum limit of a size is
known as

a) Fit

b) Tolerance

c) Interference

d) Standard deviation



fopail AT (IMHR) B SHAHAH 3R AdH AT & & & 3fc”
Ca) & 0§ SHT 91 §

a) fihe

b) TTeRY

C) m

d) ¥} es SfauaA

HSS Stands for
a) High Strength Steel
b) High Stiffness steel

¢) Heavy Strength steel
d) High speed steel






Pressure 1s

a) Force per unit area
b) Force per unit length
c) Mass per unit area

d) Volume per unit density



S| g
a) 99 Ufd S5 &
b) I Ufd SPbTs dalg

) SHM Ufd SHhTs &aThd
d) 3T Ufd SHTs g9




A fit designated as 30 H7gb1s
a) Clearance fit
b) Transition fit
c) Interference fit

d) Tolerance fit



30 Hygs & U ¥ A11Hd fihe g
a) IRy fthe
b) TR fthe
c) g&&Y fibe

d) eTeny fihe

The spiral grooves which run to the length of the drill are known as
a) Tang
b) Flutes
c) Point
d) Body



f$d ot darg db I ard 9itid Wid (W1ERd ) $l......d
&Y T ST S1a1 §

a) <Ll

b) W<

C) ﬁ'g;
d) TRR

ST unit of length is
a) Meter
b) Millimeter
¢) Centimeter

d) Kilometer



REIFCAREC IR
a)IﬂET
b) TR
) TdHtex
d) forardter

Least count of Engineer’s steel rule is
a) T mm
b) 0.1 mm
c) 0.2 mm

d) 0.5 mm



SOl & SWId Whd &1 fUdiTdid o
a) T mm
b) 0.T mm

c) 0.2 mm

d) 0.5 mm

Specific gravity of mild steel is

a) 7800
b) 7.8
c) 2700
d) 2.7



s Wid o1 fafky v (@iitees Afadh
a) 7800
b) 7.8
c) 2700
d) 2.7

The thread angle of a Metric Thread is
a) 90 degrees
b) 60 degrees

¢) 30 degrees
d) 120 degrees



Ofed IS HT IS HIUT
a) 90 fsut
b) 60 f&Hl
c) 30 fSH
d) 120 f&&t

The distance a drill moves into the work for each revolution of the
spindle 1s called the

a) Feed of drill

b) Speed of drill

c) Depth of drill

d) Cutting speed of drill



& & TP gahR & 1Y U 130 oe A fora= g2t a9 Fal &,
3 HE STl 8

a) ﬁ;ﬁﬁ[mﬂg

AESEIRIIG

o) fga ol e

d) T$a &t HTeA &I 71

SI Unit of energy 1s
a) Watt
b) Joule

c) Newton

d) Ampere



S PISISHS ©

a) dic

b) SId
c) ged
d) TARR

Kelvin is unit of
a) Flow rate
b) Temperature
c) Pressure

d) Volume



Bfcdd_ DISHR 8
a) Udlg X
b) dI9HIA
c) «dld
d) HIEAT

N-m 1s unit of

a) Force per unit length
b) Potential energy
¢c) Bending Moment

d) Surface tension



N-m__ ®IgPRS
a) 99 Ufd P15 daTs
b) Rfas St
¢) TP
d) "dg dd1d

Which of the following materials is having maximum brittleness
a) Copper
b) Cast iron
c) SS 304
d) Mild steel



Fofafad # 9 fog amml # siftfead WiRdT (fsee9) 8

a) didl

b) BRE 3T
¢) THUY 304
d) A TId

Jig 1s used for

a) Holc

b) Hold

C

ing and guiding the tool

C

1ng the job only

c) setting work piece on machine

d) Easy movement of job



ST 1 U fohap fore fowar iran g2
a) TA DI THSHT 3R ANIGIH Bl

b) Bdd SIid DI Tha|

Emery paper No. 320 is smoother than Emery paper No.
a) 100
b) 400
c) 1000
d) None of these



T} OOR R 320 T TR AaR_ ! qa-1 | 31fir
T @EE!

a) 100

b) 400

c) 1000

d) 378 q IS e

In a Vernier calliper 50 divisions of Vernier scale occupy 49
divisions on the main scale. The main scale reading 1s 30 mm and
20" Vernier scale division coincides with main scale. What is the
reading (in mm)?

a) 304

b) 30.04

c) 30.02

d) 30.2



IR FfR # aFIR W & 50 fSdioH &1 WHa & 49
fSdIoHl & sRIER g | B Whd Afe 30 it § 8fiR 20 af afFiR
W fedio e ©hd & 91y Ad @rdl g | AT 3 g (@ 9)2

a) 30.4

b) 30.04

¢) 30.02

d) 30.2



Cricket bat 1s made of
a) Compressed wood
b) Teak wood

c) Sal wood

d) Deodar wood



fhpe BT § SAIEIAT®
a) HULS dH ol
b) TN Bt ABS!
C) wﬁaﬁ
d) CICR P! AP

The annular rings of tree indicates
a) Age
b) Health
c) Strength

d) Moisture content



U8 & gOUTpR N 3 &d 8

a) 3y
b) TAY

c) dlchd

d) THI BT AT



Wood used to make small boats
a) Burma Teak
b) Sal
c) Bamboo

d) Oak

DI A9 S99 & foTu Tl BT JanT fosar Sirar &
a) 491 Sp
b) dHD
c) 9§19
d) 3l



Fire extinguisher used for wooden fire is
a) A class
b) B class
¢) Cclass

d) W class



mcoﬁﬁﬁGW%ﬁlﬁﬂﬂﬁﬁ&m%
a) Udoy
SEIESIE!
c) St T

d) Sy I

Abrasives areused in  machine
a) Lathe
b) Morticing
c) Drilling
d) Sander



IUUYD BTV AR fPar S g
a) WG (1Y)
b) HIfCHRT

C) ﬁ;’ﬁ’l’ﬂ
d) JeX

Saw used for cutting panels for door shutters is
a) Panel saw
b) Coping saw
c) Fret saw

d) Compass saw



a¥aTSl & Tex & ol U9d dle & forg IuanT fobar 9 aran
o B

a) ﬁ:ﬁliﬁ

b) DI &l

C) e 91

d) SN 3R

In hacksaw blade, a pitch of 1.8 mm will be called ____ pitch
a) Coarse
b) Fine
c) Medium

d) None



e < | 18 B fta sl fUg wer S
a) Gar]
b) T
c) AEH HifsTH)
d) dig Y &l

Decomposition of timber due to damp and moisture 1s
a) Knot
b) Dry rot
c) Wet rot
d) Shake



T4t 3R 3T dl & BRI Ab Sl BT YIS 8
a) L1 [6)
b) [ TTa
C) UINIRIGE!
d) WP

Solvent used for varnish 1s
a) Turpentine
b) Linseed o1l
c) Alcohol
d) All of above



aif=1 & fore ygad faamas 8
a) GIECIGH
b) 3Tl BT ol
c) IS (3fehlga)
d) SW & JHI




What 1s size of A3 Paper?

a) 210 x 297 mm
b) 148.5x 210 mm
¢) 297 x 420 mm
d) 420 x 594 mm

A3 BT T AT T 22
a) 210 x 297 mm
b) 148.5 x 210 mm
c) 297 x420 mm
d) 420 x 594 mm



The board made by adding resin and binder to wood chips and
heating and pressing 1s

a) Hard board

b) Particle board

c) Block board

d) Insulation board

ddel & e & H 3R RS SAaR AR TH b 3R
IR AT TS §

a)%’l@tﬁ

b) Tiicwd aIe

C)W@é

d) T dls



For a right hand door opening towards you, the hinges will be on
the

a) Left side

b) Right side

c) Top side

d) Bottom side

TP 3R G- dTdl Gl 81U & grdlo & forg fg__ gm
a) aﬁw
b) aT3 3R
() SN DI RB
d) e &t 3R



Ignition temperature (degree Celsius) of wood in general 1s around
a) 50—-100
b) 100 — 150
c) 250-300
d) 400 - 450

qHIG: dbol ol Usdad drgd (3t i) iy gidl
a) 50 - 100
b) 100 - 150
c) 250 - 300
d) 400 - 450



Engineers hammer 1s specified by its
a) Volume

b) Length of handle

c) Weight

d) Material

Solgd gASI 9% gR1 FAfcy faar Sirar g
a) 3AHAIddd
b) B¢ B g
c) dvid
d) It



Curvature of teak wood is made by
a) Heat and pressure
b) Stretch and pressure

¢c) Cooling and compression

d) Wood can’t be bend

NI P AP S| DI aehdl b GRT S8 ST 87
a) THf 3R g9Tg
b) f&ag 3R qama
¢) Ydaaq 3R Tdts
d) Al AlS! ol Sl Hebdll




Wood is strongest in
a) Tension
b) Compression
¢) Bending

d) Impact load



ddol fhaH Gad Holgd Bidl 87

a) d-ld

b) add

c) 4o

d) ST HR

In process of making plywood, following is used
a) Heat
b) Compression
¢) Adhesive
d) All of the above



[Tsqs &9 @1 Uishan § fgfafed o fe &1 IuanT forar Siran
87
a) THf

What is the price of teak wood of size 6 inch x 3 inch x 6 feet, if
price of wood 1s Rs. 2000 / cubic feet.

a) Rs. 1150

b) Rs. 1750

¢) Rs. 1500

d) Rs. 950



TS 639 x 3 59 x 6 BIC MDHR B G P! dbal B HiHd o1
g ufe IYPT IR 2000 FUY / T4 BT B

a) 1150 T4

b) 1750 3T

¢) 1500 ¥4

d) 950 TUd

Calculate the density of wood (in Kg/m3) of mass 80000 Kg and
dimensions 200 cm x 500 cm x 1000 cm.

a) 700

b) 600

c) 800

d) 900



g fet ddhat 1 GeaHH 80000 fHaU 3R AT 200 IHt
x 500 THT x 1000 T 8 81 IUH °@ (Kg/m3 H) P} TUET X |
a) 700
b) 600
¢) 800
d) 900

A cylindrical wooden container (having top and bottom) is of
height of 7 m and base diameter 1400 cm. Calculate the outside
surface area (in square meter)

a) 1236

b) 1326

c) 1386

d) 1456



U SAIPR dPhs! & U (SW R A SHl Idg aren) &l
318 7 HY 3R SMTYR T AT 1400 I 3| 9181 Tdg &F Bt
O B (@ Hlex H)

a) 1236

b) 1326

c) 1386

d) 1456

Which wood is having good spring-back?
a) Teak wood
b) Sal wood

¢c) Oak wood
d) Bamboo



g dhS! BT FBITdF 33T 8?
a) 9N B AbS!
b) AT DI ADS!
¢) §d BT AHSI
d) 99




Sum of first 10 whole numbers i1s
a) 55
b) 10
c) 54
d) 110



TYH 10 YU G=ATHT &1 AR 8
a) 55



Convert 4.307 mm into microns
a) 0.004307 microns
b) 430.7 microns
¢) 0.0004307 microns
d) 4307 microns



4.307 THH} &1 ATSHIA | Fed
a) 0.004307 HISHIH

b) 430.7 ATSHIA

) 0.0004307 HAISHIT
d) 4307 ATSHIF




Convert 1016 mm into inches
a) 1016 inches
b) 40 inches
c) 4 Inches
d) 1.016 inches

1016 A &I S99 9 vd
a) 1016 34
b) 40 39
) 459
d) 1.016 9



If a triangle is having sides of 3m, 4m and 5m, then which of the
following is definitely an angle of the triangle

a) 45 degrees

b) 90 degrees

c) 135 degrees

d) 60 degrees

afe T Ay o1 yord 3 M, 4 1 iR 5 1 & @ Pafofa 7 9
H [ T4 & Ay H1UF ST g

a) 45 fs0t

b) 90 TSt

c) 135 fi

d) 60 {2



If a circle 1s of diameter 7 cm, then its area and perimeter
approximately are

a) 4900 mm? and 280 mm

b) 3850 mm? and 220 mm

¢) 15400 mm? and 220 mm

d) 4.9 m?and 2.8 m

gfe U g1 &1 T 7 94t ©, o 9P 8 3R URHTT TR
g

a) 4900 mm? and 280 mm

b) 3850 mm? and 220 mm

¢) 15400 mm? and 220 mm

d) 49m?and 28 m



A cylindrical tank has height of 7 m and diameter of 2000 mm.
Find the volume of water that can be contained 1n it. (given
dimensions are internal)

a) 22 Litres

b) 2200 litres

c) 22000 litres

d) 14000 litres

U SATPR b Bl Hdls 7 Hiex 3R 3 2000 &t g1 urt
&1 T F1d BT Sl 39 GH1fd 81 UhdT 8 1 (S 7T S
(TT) 31 ©)

a) 22 T

b) 2200 TIcY

c) 22000 §iex

d) 14000 &ffex



One degree is
a) 60 second
b) 10 minutes
c) 60 minute

d) 100 minutes

Us f&t g
a) 60 Yha
b) 10 fFE
¢) 60 fAe
d) 100 e



Divide 0.03 by 0.8 (0.03/0.8= )
a) 0.266
b) 3.75
¢) 0.0375
d) 0.38

0.03P10.8 H HT < (0.03/08=__ )
a) 0.266

b) 3.75

c) 0.0375

d) 0.38



Volume of cuboid of sides 2x, 2x and 3x1s
a) 7x°
b) 6x°
c) 12x?
d) 12x°

2x, 2x 3R 3x YoT3fi ad TAIH BT HAH ___ ©
a) Tx?
b) 6x 3
c) 12x?2
d) 12x°3



12.335 fopdt = _ iR
a) 1233.5
b) 123.35
¢) 12335
d) 0.12335



12335 fdbdAT = Hiex

a) 12335
b) 123.35
c) 12335
d) 0.12335

A triangle is of sides 6 cm, 8 cm and 10 cm. What is its area in m?* ?
a) 0.0048
b) 0.0030
c) 0.0024
d) 0.0040



Th AU BT YSTE 6 cm, 8 cm IR 10cm &1 m2 T 3UHT &TFhd
1 6?

a) 0.0048

b) 0.0030

) 0.0024

d) 0.0040

The value of Sin 30 is
a) 1.0
b) 0.5
c) 0.66
d) 0.866



Sin30 HTHM &
a) 1.0
b) 0.5
c) 0.66
d) 0.866

What is angle (in degrees) between sides of a regular hexagon?
a) 60
b) 120
c) 145
d) None of these



U TH YU D YoI3fl & &g ol bivf (FSHt H) 1 872
a) 60
b) 120
c) 145

d) 37H A BIg T8l

In an equilateral triangle
a) All sides are equal

b) All angles are equal to 60 degrees
c) All angle are acute angles

d) All the above




U qHaTg PyST H
a) IHI Yol I9H &
b) T4t BT 60 f&Uht & RISR B
¢) G P g HIUT §

d) Iudad gt

The lengths of sides of rectangle are in ratio of 2:3, if the shortest
side is 100 mm, the perimeter of rectangle (in cm) is

a) 500 cm

b) Scm

c) 50 cm

d) 5000 cm



3T BT YSAI3AT DI TdTs BT U 2:3 8, Ifc T BT Yol
100 fopdt 8, O 3maa &1 ufkamg @+ H) @

a) 500 cm

b) 5¢cm

¢) 50 cm

d) 5000 cm

A number when multiplied by itself and added with 4 results in
200. The number is

a) 12

b) 17

c) 14

d) 56



UH T 5id W § 70N &1 911 § 3R STP 91 ITH 4 HAST
ST € df STR 200 AT 8, I8 GB/M B

a) 12

b) 17

c) 14

d) 56

01 Nanometer = micron
a) 100
b) 1/100
c) 1000
d) 1/1000




01 9-HleR = ARHH
a) 100
b) 1/100
¢) 1000
d) 1/1000

10 % of 20 % of 1500 1s
a) 20
b) 30
c) 40
d) 50




1500 & 20% DT 10%
a) 20
b) 30
c) 40
d) 50




120 degrees in radian 1s
a) 2m/3
b) n/2
c) 4n/3
d) 2n/5

120 AT A 2
a) 2n/3
b) 1t /2
c) 4n/3
d) 2rn/5



Sum of two consecutive numbers is 43, their product is
a) 262
b) 363
c) 462
d) 562

<l HHNTT TS 1A 43 §, ST1 [UA®A @
a) 262
b) 363
0) 462
d) 562



What are fundamental units?

a) Length, Mass, Volume
b) Length, Mass, Time

c) Lengt!

n, Mass, Area

d) Lengt

n, Pressure, Volume



0 Y A SH1SIN DIH-DIH 67

a) TETS, T, 3Ad-
b) TETS, GOHM, THY
¢) TSTS, T, T
d) T8, 316, e




What 1s the LCM of 12, 18, 6, 36?

a) 12
b) 18
c) 36
d) 42

12, 18, 6, 36 BT TYTH JHTITY foba1T BRTI?

a) 12
b) 18
c) 36
d) 42



What 1s the square root of 5297

a) 13
b) 23
€) 23
d) 43



529 &1 THA T 87
a) 13
b) 23
c) 33
d) 43

How many days a mechanic takes to assemble 64 machines if he
assembles 8 machines in 3 days?

a) 20 days

b) 22 days

c) 24 days

d) 26 days



g3l U Adb-d &I 8 ARfHI &1 e d e 3 A ad g a1l 39
64 TR 1 3 HIA | fa- faa T

a) 20 faA

b) 22 faA

C) 24 T

d) 26 faA

A motor cycle tyre is sold for Rs 300/- what is the purchase
price if 25% profit is added to it?

a) Rs. 200

b) Rs. 220

¢) Rs. 240

d) Rs. 260
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a) Rs. 200
b) Rs. 220
c) Rs. 240
d) Rs. 260

Which one is non-metal?
a) Mercury
b) Graphite
c) Brass

d) Iron
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a) URI
b) ApTzE
C) utdd
d) T

Which is brittle metal?

a) Cast iron
b) Steel

¢) Mild steel
d) Alloy steel
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a) aﬁITFﬁET
b) 3UTd

c) -XH {UId

d) 9 U1g 3uTd

Which property of material enables permanent deformation without

fracture?

a) Elasticity
b) Plasticity
c¢) Ductility
d) Brittleness
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a) SANe e (@Hiamm)

b) WIRIRICT (Faeddn)

c) d=ddl

d) HIRdT

Due to which property of the material it regains its original shape

after applied force is released?

a) Malleability
b) Tenacity
c¢) Elasticity
d) Plasticity
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a) ATaTageraar

b) €edl

c)?l_tﬂﬁTq:[

d) JURAdI

Brass 1s an alloy of which metals?

a) Copper and aluminium
b) Copper and lead
c) Copper and zinc

d) Copper and tin
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a) TTET 3R SegH—aH
b) dfeT 3R AT
¢) aiET 3R RNidp ()
d) dfar 3R feA

Which alloy steel is used to make permanent magnets?

a) Silicon steel
b) Manganese steel

¢) Vanadium steel

d) Cobalt steel
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a) BIGCIEEES!
b) B Wi
¢) dAfeTH W
d) PIaTec Eid

What is the unit of acceleration of an object?
a) metre/second
b) metre/second?
c) metre/minute

d) metre/hour
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a) Iﬁ?‘x’/@ﬁ
b) HIc/AH S 2
C) Iﬂ?’i/&l’-‘-l?.'
d) Hicx/deT



What 1s work done 1n unit time?
a) Energy
b) Power
c) Force

d) Acceleration
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a) 3ol
b) Trfad
c) 9
d) TR

When plan is shown above the elevation, the projection is

called

a) First angle
b) Third angle
¢) lsometric

d) Perspective
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a) Ugd IV (b Q)
b) TERT BHIT (Y TTe)
c) 3MEHMCH

d) uRved (qedfdeea)





